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Why did the 7710 say, etc. — 5915 57990 TR 7 93N

OVERVIEW

The X7n3 cites the explanation of 721 concerning the 7312w of a 'n¥pna a7n,
which begins with the question, ‘why did the 7m0 rule that a »n"2m i1s
required to swear’. The question seems a bit odd. The 770 required because
the 7710 required, period! >"w7 addresses this difficulty as well and explains
that 127 asked why should the »"21 not be considered as a *77°3% 2wn, and
the rule is that a 7728 2°wn is not required to swear’. N0 seems to favor a
different approach in explaining this issue.

— NAYYA N NI N9T NINM 9953 IN 91 9999 S¥a INT 133 NI XD ‘W1
The explanation of s'727 (rhetorical) question was that either a nxpn2a 777
should be believed without a 7v12% with the 1292 that if he wanted to lie he
could have denied everything, or since the 770 seems not to accept the
concept of 13°n here (for the »n"2m is not believed and is required to either
swear or pay), then let us derive from the 712w 21m of a n"2m that

generally we do not accept the concept of .
—19PYA 9991 192N ININ Y9N 91990 1239 YN DTN PPNT NN AT PRT Y

And 127 explained that this option of being a 9377 1915 is not a % in the

"' We derive that a n¥pPna 777 is 21 a AW from the P09 in 1-1,25 (2°05Wn) NN which states Hv2 27PN
DPYRT X N2 (which means a 7y12w) and continues 77 X7 % % AWK 131 727 95 %¥. The X3 in 2,07 Myaw
interprets the words 717 X7 °3 (that [I owe] only this) to refer to a #"2m, indicating that a n"2m is 2™ a

v,

2 See 191 71"7 *"wA. The 71wn rules in 2,nn w3 that jababoa! NP>n °191 yaw» X7 7X°¥n Xoxmn. If a finder returns
an object to its owner and the owner claims there was something additional which the finder denies, then
even though the finder is a n¥pna 77M, nevertheless he does not swear because of 22w Np°n. If we would
require him to swear, then no one will return lost objects to their owners, out of concern that they may be
required to swear.

SA "M (according to *"w") is also considered a 772X 2°wn, for he is returning to the m%n, the nxpn that he
is 77n, instead of denying everything.

* The term 'wrvd' (in mMpoN) indicates that he is rejecting [an]other interpretation(s). N1BOIN may be
rejecting *"w79, that the question is that a »"21m should be 715 from a 712w since he is a 77°ax8 2°wn. This
cannot be so according to NMvOIN, for a 77°AX 2°Wn is not MWd from a 77N M 7AW, only 13127771, because of
22w Np°n. However 7127 asked 770 7R 77 %19, Therefore the question is that he should be 71107 172 MwD
from a 7¥12w since he has a wn. [It would seem that according to n»on that when the m1wn states XX17
Q2 1PN *191 Yaw© R OX¥n, it is in a case where (witnesses and) the owner saw him pick up an object [a
wallet], and the finder denies that there was any money in the wallet. Then 77077 1 he would have to
swear, since there is no 2 of %377 1913 (for the 0°7¥ saw him pick up the wallet [and the owner has a nivy
»71]), nevertheless 1313777 he is 7D because of 07w NP n. However if no one saw him pick it up, then he is
7700 T Ay1Iwn Mod, since he has a 131 of not returning anything at all (and the owner only has a niv
Rnw). (See X7 1"72 '"M32 n"m3 and TIE 27 7"7 '01n2 &,1° m2102 footnote # 8.)]
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case of a "2, for a person cannot be brazen enough to deny everything,
since his adversary knows that he is lying.’

Based on this explanation of s'7127 question and answer® mpon derives a ruling:
— 099 PNVINNI 2192 TEANRD 131 92N 1933 19 PYNY D15°Y DIPNA YaN

However in a situation where the M7 can be 1¥» because his counterpart
is not sure whether or not he is lying, for instance by the son of his m>n,

where the m? said, ‘I owed you father a ;73» and I paid him back half’, in
that case the ruling is that the m?> -
— 7951 995 sy INT 932 1AN)

Is believed without a 7¥12w, that he only owes half a 7712, for he has the 3%

of %271 1213, since the son is not sure whether the m> paid the money back to his father

or not, therefore the M> can be 1yn -
— (8,31 97 mav) 23T HWIAY P992) (ow .x,m 97) TINIT /2 P9 NNONTD

as this ruling is cited in the second ?95 of N2> and in 2159777 PYY2W P9B.

nooIN asks:
— 59909 1931 Y51 1919 NN ON)

And if you will say; from where do we derive that a 277 251> is exempt
from a ny12w?!°

mooIN anticipates a possible answer and rejects it:
— Py DR PRT NPIN DYON Y PN

5 moon s negating *"w7°d in 7127173 7"7 R,Ip P"3, where "M states 7210 12 WYY 77 °192 11D YN QIR PR,
which would (seemingly) imply that this rule applies only by a 7%» and not by a 117p».

% Others (see *392 7"7 X,7> M21N2 MoOIN) explain that 7127 question was why does not a "3 swear as well
(but not why does a n"2m swear; the issue of 1°» is not part of the question). According to this view a n"2m
will be 211 a 712w even when there is a 131 (perhaps because a 1’1 cannot exempt one from a 7¥12¥), and
a 3"m> will be 211 a 712w where he is not a v (see later this N19OIN). NBOIN negates this.

7 See footnote # 11.

¥ According to mooIn the question of 121 12 77N 77K 75 *197 is that "2 should be believed with a 13m
of 2"mM>; indicating that 3"m12 is definitely 75 from a 7y12w. The question now is from where indeed does
727 derive that a 3"m>3 is ay12wn MM ? (See following footnote # 9)

? moon question is that even though there is no P05 which obligates a "3 to swear, nevertheless we
should derive that a "1 has to swear from the fact that a n"2m has to swear. For if a 2"m> is qyiawn Two,
then a n"21n should also be 7¥12wn MWy, since he has a 1n of 3"M>. The 77N teaches us that [even] a 771
n¥pna has to swear [despite the fact that he seems to be honest (for he is admitting partially)] and certainly
a 2"m> should be required to swear. (This is M20IN question.) See B2 MK 7"210 and 1 MR 272

"9 If we were to assume that 727 maintains that a 3" is 7¥12Wn MWD because PY» K"K, then seemingly he
cannot be asking why should not a »"2 be 715 since he has a », for if we already know that ™yn R"X,
then there is no » (as 727 explains in his answer). It will be necessary then (according to this X"¥7) to
explain that 7127 is asking why is (only a 7¥12w 21 "2 and) not a Av1aw 21 3"M2, and indeed 727
answers that a 2"M> is 7¥12wn WO because Tyn R"R, etc. See footnote # 6. NOOIN rejects this explanation.
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And one cannot say that he is 7v12wn Mvd because of this very same

presumption that ¥» K"K and therefore since he is denying everything he must be

telling the truth (otherwise he would not have the 79X to deny everything); this is not so-
— 1322 1) 9109 PYNY 1I19PY DIPNI IIPON NNY

For the rule is that a 9377 7910 is W2 from a Y122 even in a situation where

he can be 1y, for instance by the son of his m» -
— 991 999 Sya XNT 1 onn MV NYDN DTN ITIANY

And even a nXP»3 77 is TY12wWn b there by the son for he has a w»» of

b7 Y. It is evident that a 377 913 is J¥12wWn MWD not because of the npn, for even
when there is no 711 a 9377 9912 is MWwd. The question is, why!

mooIn rejects another anticipated answer:
— Zhyyaw 12900 1NN 1YY ANMNY PV 199951 91219 1PN

And we cannot answer that we derive that a 2"m> 1s Mo from a 7Y2WY,
since it is necessary for the 770 to write that an opposing X'y obligates

one to swear and deny the testimony of the X"y, that proves that a 3"m> is o from a
Y12 -
— 291 997 INDA XN THN 7Y N3 RPOI NI 22N Y9N 999 IN)

For if a 2"'m> is 2997 a 712w, what difference is there that an X'y is 2»nn»

a 2w, for even without the X"y, the defendant is obligated to swear. This
would seemingly prove that a 3" (without an opposing X"Y) is 7¥12wn 701.

mooIn rejects this explanation for indeed a 5"M> can be 2 a 712w, and the reason the
77N teaches us that an X"V is 211 a A2V -
— Y119 99N DIV YAIN 1N NINY DIPN TPIVYN NPT
For this ruling that an X"¥ is 21 a 7Y12W is necessary in a situation where
the claimant is not demanding anything, for he does not know that the
defendant owes him anything (in which case the defendant certainly is not obligated to
swear [even if we maintain that 2"m> is obligated to swear when the claimant is
demanding payment]) -
— 19 79N PANY IN 23 XINY TO¥NI TYN)
And the single witness is testifying that the defendant stole something

from the unknowing claimant, or the father of the claimant lent money to

" This is referring to the above-mentioned M3 in M3 and NMaw (see also footnote # 7). The M s
there do not directly discuss the case of a 2"m>, but rather that a »"2m is Ay12wW» MW (by 112) for he has the
11 of 3"m>. This obviously proves that there is no 1°¥» (at all) in being a 1122 3"™M2 (otherwise there would
be no 13°n) and that 3"mM> is 7¥12wWn 7MW even when there is no hint of 1°¥» (as evidenced by the 1°n).

"2 The 77N writes in 0,u° (2°09W) 0127 that NXLA Y99 MY 3% WRI TR 79 DP* ®Y; the XA in K,» DWW
interprets this 2109 that an X"¥ has no power to punish someone corporally or monetary wise, but he has the
power to impose a 712 on whoever contradicts him in monetary issues.

3

TosfosInEnglish.com



191 "7 "0 KA R"2 702

the defendant. In these cases the defendant is obligated to swear and deny the testimony
of the X"y. The question still remains; from where do we derive that a 5713 is 7¥12wW»H MWVO.

NIDDIN answers:
— XYY N7 NPT YUN Pt NN 90T Y v

And one can say; that the P05 of 117 X¥7 32, from where we derive ny1aw

n'"21, indicates that it is a 2''71915 -
1997 1919 X9 29N MIYLN NYPN NN KNTT

that only a »''2 is 7¥12w2 2917 but not a 2''/m>.

SUMMARY

727 asked that either a "2 should be exempt from a 712w for he has a n
of 2"M> or we should derive from 7»"2w that there is no rule of Wmn. A 2"M>
18 7¥12Wn MWD based on the 2109 of 7T X177 2.

THINKING IT OVER

1. According to nvoIn (that the question of 7127 is that a n"2m should be
believed with a 13°n), the explanation is that there is no 122 of 3"12 by »n"2mn
since 1°yn X"X. Seemingly this is not understood, for we find elsewhere'* that
we do say a 71va7 wn. Others explain that concerning exempting one from
paying we do say m1¥n7 21 but we do not say 2awn “NWORY 71vaT N, How
can we explain the difference between 171 *M115K? and 7¥1wWH *NWORL?

2. Mmoo attempted to prove that 2"712 is 7v12wn MWD from the fact that an
X"Y 1s 211 a 7v1aw. We may assume that a 2"mM> 1s Ay1awn 7wd where 17°21
17PWw2a 701 since °vn XK (as mentioned in the first attempted answer), the
question is how do we derive that even where he can be 1y (like 112) that he
is also myawn MMwo. Therefore seemingly we cannot bring any proof from
X"y, for the 77N 1s 21 a R"v2 712w, where he cannot be 1y (and he would
be my1awn Mwy if there was no X"). What is therefore the proof from &"y?'°

13 See footnote # 1.

' X, 2"2 by the story of XowIn 987 "1y 1.

15 See 71 MR >"92. [There is a need to explain the proof from Xw?m *2387 "1y °17 that 11718 71977 0. There
the claim against the 13n is a Pp0 Nivv, therefore even a ryaT 1Wn is sufficient, however when the claim
against the 21 is a *R71 N1yY (as here by »"21n) then perhaps 111K K2 7177 13on.]

16 See 7w 0"n (and 19 MY MY DIRCD.)
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